3y = 0.61 Cavity for SNS

Effective R that matchesthe TTF curve = 0.630

En/ Eac 2.69 ( 2.63 for inner cell)
Bo/ Exce [MT/(MV/m)] 5.64 ( 5.44 for inner cell)
R/Q[M 295

G [ 214

K [%] 1.53

Qgcs @ 2K [10°] 27.36

Frequency [MHZz] 805.082

Field Flatness [%0] 1

L orentz-force detuning KL70=-2.9 HZ/[(MV/m)"2

KL80 =-3.4 HZ/[(MV/m)"2
Nb thickness = 3.8 mm



L [cm]
I:airis [Cm]
D [cm]
d[cm]

r[ =b/a
R[=B/A]
a [degree]

Inner Cell

5.68
4.3
16.377
1.1

1.7

1.0

7.0

Geometrical Parameters

End Cell Left

5.68
4.3
16.377
1.1

1.6

1.1

7.654

End Cell right(coupler)

5.68
6.5
16.579
1.1

1.5

1

7.0



